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7. (a) Copper is commonly used as a conductor of electricity. In relation to its
atomic structure, state why is it a good conductor of electricity.

(b) Cables with copper conductors often have PVC insulation. In relation to its
atomic structure, state why PVC is it not a good conductor of electricity.

(c) State why conductors have power losses.

(d) State how can power losses be determined in conductors.

8. (a) List TWO means by which electricity may be produced.
(b) State TWO main effects of an electric current.

(c) Explain which electrical effect is being made use of in:

(i) a cartridge fuse;

(ii) a solenoid.
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